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QUESTION ONE

Remember to support your answers with evidence from the text. Extra space is available on page 8.

(a) Whatis planned for the Naruto day trip (Course A)?
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QUESTION TWO

Remember to support your answers with evidence from the text. Extra space is available on page 8.

How is Aroha finding school at the moment? Why?
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(c) y Is Kazumi surprised that Aroha went to Japan when she did?
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QUESTION THREE

Remember to support your answers with evidence from the text. Extra space is available on page 8.

(a) Why was LINE created?
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(b) What is Aroha’s opinion of LINE? Explain why.
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(c) What has Aroha heard about Twitter in Japan? Explain why that is the case.
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Achievement exemplar for Level 2 Japanese 91136 2017 Total score 12/24

Grade
score

Q

Annotation

This response provides consistent evidence towards Achievement. The
information is largely correct and is consistent, despite the two words provided
in Japanese. There is little evidence of understanding of Merit level detail in
Part A, some is included in Part B where the candidate mentions the match
“‘determines who is the best in Japan” and in Part C they have a very good
point about the late return of the Kobe trip and the fact that Aroha returns to
NZ tomorrow. However, these two points are not sufficient to move to M5, as
they would need more correct Merit level detail to show they can
unambiguously communicate relevant detail.

The candidate provides a very good answer in Part B where they show they
can select detail from the text to support their answer. However, Part A has
some incorrect information, for example misunderstanding “3™ term” and “4™
term” for “3 weeks” and “4th week” respectively. They have also not
understood key words like V%> and &= < 5 A and 72\ &> (important, not
“troublesome”) which means that overall they show they have understood the
“general meaning of the text”.

Once again this answer is a little inconsistent in providing details. One can see
that the candidate has understood the part about Twitter well, and cover all the
Achieved points in the rubric. However, Part B has some inconsistencies, and
the second part of the answer is a little tricky to understand. Given the
understanding shown in Part A and Part C the candidate has demonstrated a
general understanding of the text, rather than A3 “some” understanding, as
they cover most Achieved points in Part A, about 2 in Part B, and all in Part C.




